: ‘ Volume and Surface Area of Cones

(\

=== REVISE THIS
TOPIC

1 Here is a cone.

Volume of cone = % 7mr’h  where r is the radius and h is the perpendicular height

Work out the volume of the cone.

Give your answer to 1 decimal place. [2 marks]

Z w10 x 4E x| = 18%-306364

e 1 843

cms3
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2 Here is a cone.

1 .
Volume of cone = 3 7mr’h  where r is the radius and h is the perpendicular height

2(a) Work out the volume of the cone.
Give your answer to 1 decimal place. [2 marks]

22 xT0x S5 x |L= 3141592654

Answer 3 \ l‘l’ ) 2— cm?3

Curved surface area of a cone = zrl where r is the radius and | is the slant height

2 (b) Work out the total surface area of the cone.
Give your answer to 1 decimal place. [3 marks]

Tux S x 13 = 1042015215
x 5° = $35118163%

1ot L.+ 3-S.. = 1% 7 3413289
Answer Zg()— -:l- cm?

www. 1stclassmaths.com © 2025 1stclassmaths



http://www.1stclassmaths.com/

u m r@ @1stclassmaths 3

3 Here is a cone.

1 .
Volume of cone = 3 7mr’h  where r is the radius and h is the perpendicular height

3(a) Work out the volume of the cone.
Give your answer to 1 decimal place. [2 marks]

1« 10 % b % § = 201542894

Answer 30 \ ) G cm3

Curved surface area of a cone = zrl where r is the radius and | is the slant height

3 (b) Work out the total surface area of the cone.
Give your answer to 1 decimal place. [3 marks]

Lx 6x 10 = V88 4955592
X 6= 1170933355

\3%-%4...+ \WL.0a... = T0O|-991%A4}
Answer 30 \ 6 cm?2

Turn over »
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4 Here is a cone.

1 .
Volume of cone = 3 7mr’h  where r is the radius and h is the perpendicular height

4 (a) Work out the volume of the cone.
Give your answer to 1 decimal place. [2 marks]

%3 x Tux 8 x 1§ = 1005 109644

Answer \ 00 c\) 'l orm?

Curved surface area of a cone = zrl where r is the radius and | is the slant height

4 (b) Work out the total surface area of the cone.
Give your answer to 1 decimal place. [3 marks]

fUx 8 x13 = 423 1S %6 009
1x®*= W\- 0619298

L131..+ 1010..= 62%-2185%0%F
Answer %183

cm?
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5 Here is a cone.

1 .
Volume of cone = 3 mr?h  where r is the radius and h is the perpendicular height

The volume of the cone is 3000 cm?3

Work out the value of h, the height of the cone.
Give your answer to 1 decimal place. [3 marks]

Y w10 x 12%xh = 3000
L8 = 2000
h= 3000
43
h= |9 8441634

h= \qq om

Turn over »
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6 Here is a cone.

1 .
Volume of cone = 3 mr?h  where r is the radius and h is the perpendicular height

The volume of the cone is 90 cm?3

Work out the value of h, the height of the cone.
Give your answer to 1 decimal place. [3 marks]

2 x 16 x ¥ xh = 90

\btth =90
R
lbtih= 230
W= 430
|6TC
\'\ - S 3439

h= 5“’ em
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7 Here is a cone.

1 .
Volume of cone = 3 mr?h  where r is the radius and h is the perpendicular height

The volume of the cone is 120 cm?3

Work out the value of r, the radius of the base of the cone.
Give your answer to 1 decimal place. [4 marks]

x TV x¢*x 85 =110
(31r" =120
b
\ 3Tyt =3O
+ - ‘-_1'_'_}_2
e
> = 12 4%8I...
=12 481
= 3 6bAHY
-3 o

W
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